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QUESTION 1

Scenario: A network engineer would like to prevent blacklisted remote clients from accessing NetScaler hosted
application services. An IP address blacklist database is maintained by an external company and available to query over
the Internet.

The engineer would like to reject any connections from IP addresses that are contained in the blacklist.

What could the engineer configure to achieve this goal?

A. SSL offload

B. HTTP callout

C. URL transformation

D. SSL certification revocation list check

Correct Answer: B

QUESTION 2

Which command will allow an engineer to change the NetScaler IP (NSIP) from the command-line interface?
A. add ns ip 10.100.10.100 255.255.255.0 -type SNIP

B. add ns ip 10.100.10.100 255.255.255.0 -type NSIP

C. set ns config -ipaddress 10.100.10.100 -netmask 255.255.255.0

D. set nsip 10.100.10.100 -netmask 255.255.255.0 -mgmtaccess enabled

Correct Answer: C

QUESTION 3

Scenario: A NetScaler Engineer is troubleshooting a high-availability issue. The engineer needs to determine if the port
being used by the high-availability heartbeats is blocked.

Which port is used by high-availability heartbeats?
A.
B.
C.
D.

Correct Answer: A
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QUESTION 4
ESTION NO: 118

Which two options could a NetScaler Engineer configure to ensure that a revoked client certificate CANNOT be used for
a client certificate authentication? (Choose two.)

A. Server Name Indication (SNI)

B. Certificate Revocation List (CRL)

C. Certificate Signing Request (CSR)

D. Online Certification Status Protocol (OCSP)

Correct Answer: BD

QUESTION 5

How could an engineer configure a monitor to ensure that a server is marked as DOWN if the monitor test is
successful?

A. Enable the LRTM option for the monitor

B. Enable the Reverse option for the monitor

C. Disable Down state flush for the service group

D. Disable the Health monitoring option for the service group

Correct Answer: B
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